Secondo minicompito

I=j11n<x2+\/§x+1>dx=flln(xz+\/§x+1)dx_f11n(x2—;/§x+1)dx
0 0 0

x2—3x+1 x x

fa) = jlln(x2 + 2x cos(a) + 1) i
0

x
x+cos(a)
_ 19 In(x2 + 2xcos(a) + 1) L 2 sin(a) = "sin(a)
1’(a) = -_— dx = — 5 X
o 0a x o X2+ 2xcos(a) +1
1+cos(a)
f sin(a) 2 sin?(a) dt
CQS((a)) (tsin(a) — cos(a))? + 2(tsin(a) — cos(a)) cos(a) + 1
sin(a
2 cosz(g) a
_ f—z in(@) cos(%) 2sin?(a) e f“’t(f) 2
cot(a) t2sin?(a) — cos?(a) + 1 cot(a) t2+1
a
=-2 (arctan (cot (E)) — arctan (cot(a)))
T a m
=-2 (E sign(a) — 5 Emgn(a) + a) = —a, Va € (—m,m)

Fabio Buracchi — 0253822



@ zcoth(z) = 1 + ];]Byzéij?mc
@ ¢(2k) = (‘1)";1(123]2(,3 !(zn)zk
O v T Z( 1)k< > - Z< DRty
neh a1 +n £ 5
_ai( Dka 2"((21«,+2)—aIZE:N( 1)k-1q2k- 2((2k) N%@)

th(ma) !
q — — —
5 coth(ma) — —

a
a a=2mb 2mh 1 b 1 1 b=5.
S h(h) — — —2%
® 2 (2mn)? + a? Z (2mn)? + (2mb)? ZHZ n? + b2 2 coth(rb) 47h
neN neN neN

- %coth (g) — % = %(coth (g) — %)

sin(ax @ e~ 2mx o e
](a) = f %dx = f Sin(ax)l_e—_mdx = j- Sin(ax) Z e—ZTE(Tl+1)x dx
0 0

Z f —2mX gin(ax) dx = Z Ly {sin(ax)}(2rn) = Z m

neN neN

~ (o (3)-2)

@

Fabio Buracchi — 0253822 2



